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Max. Marks: 110
Min. Marks: 39

Instructions to Candidates:
Attempt all five questions from Part A, four questions out of seven questions

from Part B and two questions out of five from Part C.

Schematic diagrams must be shown wherever necessary. Any data you feel
missing may suitably be assumed and stated clearly. Units of quantities used
/calculated must be stated clearly.

Use of following supporting material is permitted during examination,
(Mentioned in form No. 205)

I.NIL 2. NIL

hould ven up to 25 w onl [10x3=30]

Q.1 Define symmetric and skew — symmetric matrices.
Q2 Define echelon formof amatrix. ~ €Sahilkagyan.com

Q.3 What is integrating factor?
Q.4 Define Bernoulli's equation.
Q.5 Give the definitions of complementary function and particular integral.

dly , dy -
Q.6 Hndmcc.f,ufﬁ+ = 2y = X+ cosX.
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Q.7 Define -
(a) Ordinary point
(b) Singular point and

() Regular singular point of linear differential equation

Q.8 Find the partial differential equation by —

az+b=aX+y.
Q.9 Solve -

I =at,
Q.10 Classify the following P.D.E. -

@z _ 1 8z .

i ersahilkagyan.com

PART -B
(Analytical/Problem solving questions) [4x10=40]
A t any four ons

Q.1 Find the Eigen values and Eigen vectors of -

6 -2 2
A=1-2 3 -1

2 -1 3
1 2 3 4
Q.2 Reduce the matrix B=|2 1 4 3 | to its canonical form and find rank.
3 05 -10

Q3 Solve- (Axy+yx)dx+(x*+logx)dy=0
Q4 Solve - 113(x+ly}+3p2{1+y)+(y+1x)p=n

Q.5 Solve- (2x*+3x) —+ (6x + 3} + 2y = (x + 1)e*

oz az
Q6 Solve- Pp*+a’=x+y;p=.q= 5

k4

i a
Q7 Solve- xr+p=9x"y*ir= ﬂx:'P= Ei
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Q.1

Q.21

Q.3

Q.4

Q.5

0
Sﬂmﬂﬂrlcr—l'hmilmum.vaifyitfmihamaﬁizﬂ=h 2 Elmdﬁndﬂ"*

Solve the senes -

(1-x%) E—hg+2y=ﬂ.

Solve - ersahilkagyan.com
@ Q+y)+(x—e'v)L=0.

) O*y+xy+1Dydx+(xy-xy+1)xdy=0.
Solve -

ey $=n, Satisfying the condition u (0, y) = u (£, y) = u (x, 0) = 0 and

u (x, a) = sin .—:

Solve - (x*-y?) pq - xy (p? - g%} — 1 = 0 by Charpit’s Method.




